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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & TE (B ESM)
BV
= 1 139, 115, 818
N+
= 1 11, 475, 900
4T
m3 280 968, 426
AR (FtR) ik 2. bmAi
= 1 586, 200
B (L) R - 2. 5mPA_ 4. OmAH;
= 1 131, 994
FEHA (-27) +wp 150, 000m3 AT
= 1 66, 061
i S T Cadl- ERiRY L&)
= 1 184, 171
T (1ICT)
m3 9, 900 10, 507, 474
FEAA (ZE88) B 1 (ICT)
= 1 2, 250, 270
FEHA (-27) 1w 1550, 000m3 AT
= 1 2,173, 620
i S T Cadl- ERiRY L&)
= 1 6, 083, 584
LR L
= 1 3, 633, 252
% ARHER L
= 1 3, 633, 252
NIy b (Rn=7" Rl t=50cm WEATVIAvF EISEA £R15
~20cm
m2 222 16, 366 3,633, 252
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
HR[E D T
= 1 122, 939, 600
AT
= 1 122, 939, 600
Ba ¢ 400k
m3 5, 300 22,928 121, 518, 400
FEH L
m2 950 1,496 1,421, 200
Gan
= 1 1, 067, 066
T HARE T
= 1 794, 773
TE AR
= 1 211, 464
RS (B) 150 BUGmE VY L mR O 1
M+
= 1 217, 782
RO F HA4:079v477 RC-40 t=150mm
= 1 112, 807
R (SR T Cadl- ERIRY L&)
= 1 252, 720
THAER T
= 1 272, 293
RO F H4079v477 RC-40 t=150mm
= 1 272, 293
B TR
= 1 139, 115, 818
B ST
= 1 15, 038, 187
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
B3 TS
= 1 3, 463, 461
et By
= 1 500, 785
VAT (ICT)
= 1 500, 785
BGmEsET (K30
= 1 2,962, 676
HIBGERE (FE L)
= 1 11,574, 726
Wi
= 1 154, 154, 005
B
= 1 40, 050, 051
T AT
= 1 194, 204, 056
— R
= 1 30, 125, 944
TS
= 1 224, 330, 000
THEBLFH Y %H
= 1 22, 433, 000
TH#&G
= 1 246, 763, 000
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